Giải toán lớp 6 tập 1 - bài 74 trang 32 sách giáo khoa
Bài 74:

Tìm số tự nhiên x, biết:

[image: image1.jpg]a)541+(218-x)=735;  b)5(x +35)=515

09-3(x+1)=42;  d)12x-33=323*




Đáp án:

[image: image2.jpg]Luru y: 12x hay 3(x + 1) 13 céch viét tat ctia 12.x va 3.(x + 1). D6 la cac phép nhan.

a) 541 +(218-x)=735
218-x=735-541
218-x=194
x=218-194
x=24

b) 5(x +35) =515
x+35=5155
x+35=103

x=103-35





[image: image3.jpg])96 -3(x+1)=42
3x+1)=96-42
3px+1)=54
x+1=54:3
x+1=18
x=18-1
x=17

d)12x - 33=323%
12x-33=927
12x-33=243
12x=243+33
12x=276
x=276:12

x=23
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